
Chapter 20:  Electric Fields and Forces



20.1:  Charges and Forces



    See the pre-lecture video.  We will not be concerned with most of the details of specific friction 
experiments, but will focus on the broad, general conclusions:




There are 2 types of charge:  Call them “+” and “-“
•
Like charges repel
•
Opposite charges attract
•
Total charge is conserved.
•









20.2: Charges, Atoms, and Molecules

    Read for general perspective. 

Charge on an electron:



Charge on a proton:









Definition of the Coulomb:



Common subunits:









Conductor:  Charges move easily within a conductor

Insulator:  Charges are not free to move within an insulator

Polarization:  a separation of positive and negative charge
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20.3 Coulomb’s Law
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Vector Example charged triangle
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Defer more vector work until we discuss
the electric field


